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Q1. A part of (a) / the mango

(b) / are (c) / rotten. (d)
A. A part of
B. the mango
C. are
D. rotten.

Answer: (c) Replace 'are'
by ‘is’'.
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Q2. He and | (a) / is partners in (b) the firm (c)
/ named 'Unique builders'. (d)

A. He and |

B. is partners in

C. the firm

D. named 'Unique builders'.

Answer: (b)
Replace 'is' by 'are’'.
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Q3. | have paid (a)/ my bill for
electricity (b)/ only a week ago.
(c) /No error (d)

A. | have paid

B. my bill for electricity

C. only a week ago.

D. No error

Answer: (a) Correct Sentence: | paid my bill
for electricity only a week ago.
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Q4. The truck driver accused (a)/ the lady for

walking (b)/ in the middle of the road. (c)/ No
error. (d)

A. The truck driver accused
B. the lady for walking

C. in the middle of the road.
D. No error.

Answer: (b) Correct Sentence: The
truck driver accused the lady of
walking in the middle of the road.
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Q5. This is the old man (a)/ whom | said (b)/

had helped me. (c)/ No error (d)
A. This is the old man

B. whom | said
C. had helped me.
D. No error

Answer: (b) Correct Sentence: This is the old man
who | said had helped me.
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Q6. Apart government agencies, (a)) a number of private

organisations (b)/ too have been making use of satellites. (c)/
No error. (d)

A. Apart government agencies,
B. a number of private organisations

C. too have been making use of satellites.
D. No error.

Answer: (a) Apart from government agencies, a

number of private organisations too have been
making use of satellites.
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Q7. You will lose (a)/ your dog (b)/ if you

did not tie it up. (c)/ No error. (d)
A. You will lose
B. your dog
C. if you did not tie it up.
D. No error.

Answer: (¢) You will lose your dog if you
don't tie it up.
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Q8. The sudden change (a)/ of place (b)/
effected her health. (c)/ No error. (d)

A. The sudden change

B. of place

C. effected her health.

D. No error.

Answer. (¢c) The sudden change of place
affected her health.
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Q9. The parties disagreed (a)/ on the two first
clauses (b)/ in the agreement. (c)/ No error.
(d)

A. The parties disagreed

B. on the two first clauses

C. in the agreement.

D. No error.

Answer: (b) The parties disagreed on
the first two clauses in the
agreement.
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Q10. I'll ask that man (a)/ which of the roads (b)/
are the one we want. (c)/ No error. (d)
A. I'll ask that man

B. which of the roads

C. are the one we want. IMI

D. No error.

Answer: (c) | will ask that man
which of the roads is the one we
want.
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11. Many healthy people are
been infected by the virus.

a) are in infection

b) are having infected
c) are being infected

d) were bearing infected

Answer: ¢) are being infected
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12. The government's focus on achieving
growth not to control inflation.

a) being focused on achieving

b) focus is to achieve —

c) focus of achieving |MI

d) focusing on achievement

Answer: b) focus is to
achieve
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13. It is the doctor who suggest

new medicines.
a) which suggested new
b) who suggestions new
c) which suggests new
d) who suggests nhew

Answer: d) who suggests
new
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14. The U.N.O, insists on better
understanding between the

countries of the world .
a) among the countries
b) with the countries
c) by the countries
d) No improvement

Answer: a) among the
countries
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15. He is addicted to smoke.

a) addicted to smoking
b) used to smoke

c) addicted of smoking
d) addicted with smoking

Answer: a) addicted to
smoking
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16. The teacher was very angry at

his student.
a) angry with
b) angry against
c) angry about
d) No improvement

Answer: a) angry with
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17. He doesn’t smoke, nor |

did.
a) nor | smoke
b) nor | do
c) nordo |
d) No improvement

Answer: c) nor do |
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18. He must has change
clothes during the night.

a) have changed

b) has changed

c) have changes

d) No improvement

Answer: a) have changed
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19. Political theorists make the distinction
among ordinary politics and extraordinary
politics.

a) distinction between

b) distinction for

c) distinction from

d) No improvement @

Answer: a) distinction
between
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20. May be they has had a

fight.
a) were had
b) was having
c) were having
d) No improvement

Answer: c) were having






